2]

R

i

-3;\\%
-y

%

NEEECHE A+ A |
(88) AR5 88026129 RN

H H |#i | b 2
HE H B OB SHSEA S BIEL  TE RS LRI A R -
BT AT E R (A BINEE) 25 PEAAEETFT R Z RS (T E S > NS TRV > EIE T HHR 7 IR AHLE -
FEE RN (AR 50 ALK 05 S AR A RO R IR LT LR 0« MRS | POk
B RN EE (A R) 20 - R 15 B F 20 AR ZZE R - fES S EREE 20 N HEEEE > BREN R/ NEER 50 ARNGER 40 AR -
@ HEmEERE(AR) 25 RS 10 HH4R FE=0.278VT » FHh T=8 77 [ R ERERT 3-5 7 -
BRI ERE=0.035V3R » Fh R=SEEAR {EF] > L B RS E B 0 (IR T EYRE
J|EEraacr) R £ 10 FIHERT o RIS SRR 5 ISELEIE BT SR SRR L SOAS S8 RIS
# h & AT AR AR 2 > 15 2 PR (HIESE— 4 FIRSY - DARAE A Wi Hh 4 AR S A WA A 4 BB —F > WIS A SRR N 50% -
[T S 1A T i WS [ R AH R P DA D4R R DABR 4R AR - DABSRAS 5% P i 4 Z—UGEEIHER—ENEE -
g | p B R BE (H 2 &) e 10% FECHF 12% K3 5% RETHEF 6% Hev g 1092 12%)% » BUSERENATEE » BRI NI RUHE S Ry 3% -
s I (g ) L (E )] AU ASIT | S6BF | E7THF | TBUF | 89MF | SA0BTF | 10UF W12 st e C SRS « MBI « ST ARS 4% » BFEA/INS 50 AR + Bl 49600 EARHEIRIEIEZ
EE (s ) TR 1000 00 450 300 200 100 60 50 i T 4015 T BN R PSR R b FIEACH 1 IR GBS -
i b4 FR(AR) 1525 30 35 40 45 50 55 60 70 80-180 200 A E
T 487 P TR A (B 0 2R) | B i (| 45 3%) A 5 5 5 6 7 7 8 9 10 S & FIFFE<RITS > RIGTHF RI6 > B4R 3 N IER A EAE R B4R FIRFS -
T 5 B B 6 7 75 8 9 10 10
» FE g by (B 4 %) 0.5% B P B NI P 0.2%6
™ W o (H 9 oK) 2 LT 212 IR 1218 \ ‘ e
TR EE (A R) - FHb48I BRARRIE L=VA360(Gi-G) » T Gi-Go= R AH M 8 2 (RS RIS FEHEE -
" & B ( 2 R ) & 20 40
no R (s s = (F ) 2T zEOT 28 P74 L<S I » L=25-(442/ G1-Gy) » L>S I} » L=(S¥442)(Gr-Go) » i S=HilBE/A R - EfEFiIRERESE -
H | 4 - E OE (5 R ) T 20 40
i B B ot BiiR B R BUGBALLAE: N . T I
B s w (A ROA X (m  E ) 55 50 E%%%E’afﬁﬁﬁﬁ%}%‘ » NEFEEH 0 B \fﬁ%ﬁ‘%@ﬁfﬁE@é%égﬂ%ﬁ*&ﬁ’ﬂ%i&@  HEES TR ISR 0 1
- — - LT R 50 s S FRISTHE 4.0 WL PR B AR AR E 4.0 ARBEES Y - DEIFIERE RN E HITTE -
B = ( & (& £ # ) 5.0 45
BE (s R) At 05-1.0 HHE 6% PRSI B AR - dha S e = B R -
2B (4 R) LR AR - JIRE 0.30 > %€ 0.30 - Ik 1:1/2 > #EAFER V2 > THE 0.50 » 2% 0.30 » {Hjz 1:1 172 TERE SR HIEHS [V S AR BCIRAT 150 A R RACH—E -
5 if =1 it Eil=Re it LY
4| 4 B ¥ (H W E)E 77 1.1 AEEH 1:3/4 1:1/2 BEEHREIMA 1:1/4 > dhaR P 1:1/2 | B4R sl sMa] 1.0 dhaR il 114 Bietst - MBS A E BURKEE T - T8 (R BRI/ IHUE FbE -
i 1 77 1:11/2 L1172 REEHF 1:1 14 1:1 1:1
pe |BE T RO (S R) 35 HH &R PR FE AR I B PN -
B EE (S R) HHJ7p% 0.15-0.25 » #2777 0.10-0.15
H g gt (F 4 %) 3% - FHIEIE HHH &G = A S L
i Eﬂn HE (LR )ﬂé B(AR) 15 20 25 30 35 40 45 50 60-70 80-180 200 EXL HIEE=N(R-/ R%-36)+0.1V/y/ R » #rf N=siE#; 1
) & mE(AR) 18 1.4 1.2 1.1 1.0 0.9 0.8 0.7 0.6 05 A |DIERERER A AR > PRI E NS
[gﬁé% s cmsx) A+ Lﬁ:i (& R) 15 20 25-180 200 DLk | =(VY127R)-F » St F=sdm B e AR R BRI A4 0.2 » NS E KRR HERIE -
S BE(EDR) 50 4.0 3.0 | EEEE R MU R RIME PR NG .
10 20 10
- —
woEoE (s R FIFH I S TS > 04T 300 £ 500 ARBE—E -
S
. 2.0 %@% (B E B s )
sl g |BCE (N W) HS-20
o ®E (A R 46 Ef‘éf?ﬁ?ﬁ%ﬁﬂﬁﬁ%&%NEIJF'EFJZ%FE » PG ZEAETE S MAL £ 0.60 AR OTETS > HHERERIEMR FYIFUENM S R
B bs m (a B ) 8 4.4 4.7 %fg%iﬁggg%ﬁg S GNRIRT 2 B R 35 AR FRGANHIEEERM  HESG A EEE  thiymiE
MoE 3 E(n R) 42 B SRR G E R BIRHE 2 = BIREEE -




A
NERE: AFE + B +— H
(88)f b 555 88026129 B/
1 H |4 e =Y
# i Y GBS SHESER SS HHE o ERF e - EUEE A R -
S a7 o R (A BN ) 20 (RS FTF  B (THeR » RETRATR - BT s > IR R AHLE -

o e FREE=0.278VT+V2I254F Zhh V(TR /A BLUNGE » T=30ak B RIS 2-4 ) » F=ebib BpG At s B 4
TRERBERE(SR) 5 FRERKE 0.5 SRR e LB SR RS 0 2 R+ B PR LA R A0S + 16 T AR - T (i -
Bo |V (BN EE (AR 15 FSEH 12 MR 12 5 15 AR 2 Stk o TES S GIRE 15 /N BIESE » BOBPR N ER 40 AR BT 30 AR -

» 45 0 B (A R) 20 + FEFERF 10 M4 ERE=0.278VT » =Xt T=iis s [ i EI5 R 3-5 %)
Zl
. v SERISRIE=0035VYR » ke REERAR » UHIVARA - DURIAAH R AE » (BRI /CTILERE
LT EeER FRGRITER » BIZ10 FHEAS TR BRI - S BN  (F EE AR TS T2 5 A » T PAEE R R SRR -
" i 4 T IE] A » SR IR (EEE—BRIERE » DU R IR P — BRI TR A R 4 S5 » MBS 2 R ARy [ 50% -
W@ | B o @ W 1 A R A4 > TR DU BRI » DABRAR % R 45 Pt R R — B -
B | g [AHRE (H 5 %) NEHE 10% TN 12% S 6% FTHE % YU 10%ZE 129%0% » BSSBEREE: » BB B AU B 3% -
s I (g ) L (E )] AU ASUT | S6BF | GTMT | TBHF | 8OMF | SA0MF | W0-UUF -2 |egessh e EL AR BT » MEBEDISBRIERS » FLOEREARS 4% » BREF /NG 50 AR » il 4%bL AR AR
EE (s ) TR 000 00 450 300 00 100 60 50 KRB PSR » AR BB B REBIRGI R L MIE AR 1 IRERLEHER -
i b3 (A R) 1320 25 30 35 40 45 50 60 70 80-180 200 Dk
T FEE LA (1 53 58) B (5 43 2R) 4 5 5 5 6 7 8 9 | EBEE<RITS » FSERS RIS » fid R IE R A BRI B4 L -
4 10 N
X BB o 5 6 7 8 9 10 10 10
, FE Vgl o R (B 4y %) 0.5% I 5 PR B NS S 5 0.2%
e W £ (H 5 %) 200 F 2121 F 1219 \ ‘ .
M EE(AR) - FH T B4 B RE L=VA360(G-Gy) » For Gi-Go=MUAHMEBEAENEFE > (U - EFEFIREREYE -
" & & (& R ) NE% 20 40
L ERE (AR g E(E 3R ) 20T 212 BT 1219 FH490 L<S B » L=2S-(442/ G,-G;) » L>S I » L=(S%442)(G1-G,) » =rf S=HEAR. - EREFRiE9%
ﬁ é(% 7 IX = ( AN )5 J‘E‘; ( Q} )_:1 ) K%ﬁ 20 0 NI F = '( 1= 2) ¥ —( )( 1" 2) T\ =1 A X THTEME I
i | g Bs = Bt B e R L
EEE (A =1 5.0 45 ==8 2 TR Y NI FESE G o T o

B R E O (A E); : o0 i . o 40 iy |[POERUECISRTRR T OIEET  ARER LSRR - BT

B s (& R FEAEE 0510 R 6% B P A R P R B R

2% (n R LA » BT 0.30 » % 0.30 » (i L:1/2 » #ARE A VI » THEL 050 » % 0.30 » Il 1:1 172 TERS A FE I 2400 » SRASHRRY 150 43 R BRI K —

i i Wi Rt #it B

e (E o 5 L1 REBLHF 1:3/4 1172 LM 114 - BGPIE LL/2 | E et aMEl 1:00 BRI L LA Bt VSIS S BLE K T BT - (NI B -
g | T 1 ¥ 11172 1112 » REER 111 1/4 11 11

B |BS T OEE (4 R) 30 HI AR TE AR B HIE -

BEEE(ASR) % 0.15-0.25 » #2754 0.10-0.15

W g gt (5 5 %) 3% > AT HIA R R SRt ©

i Eﬂn HE (LR )ﬂé@(i}){) 13 15 20 25 30 35 40 45 50-60 70-180 200 L E [fnEERE=N(R-y R2-36)+0.1V/y/ R » ZH N=EiiEsg 1

& s (s R)| 19 16 14 11 10 0.9 0.8 07 06 05 TEE | IBIRERERR R > R R -

it} —
R S )* fElaR)) 18 15-180 200 DAL | spe=(VA127R)-F » o F=ein BRI BRI (B4 0.2 » fit/ VBRI (RS HERVE -

ot N am@ )| a0 30 ¥ RS R M P o PR R -

10 20 10
g - -g— .}
B oE oE (A R FIFE T80 T4 18T - 40549 300 28 500 /3 K 38— -
2.0
. BREE (HIREEEINEE )
gl ogs B E (8 W) HS-20
N U BT s R T AR S (RS B > Bk AR EABTIAMEL B 0.60 /3 KA EMI T » MR IER EFIHLE IR R
moF RS R) 40 e
B olsow (5 R ) 4 B PR T BE R 2 B » FRSE IR ERE By 35 AR - BRI B BRER TR R TR sk
FoE (A - % EF IR R -

Bl oE s s (s R) 42 BB IR A P U R > T BRI




P

B
b

=
?\_‘E

2l

NEEY S HE A+ A = B

(8B)EEMTSF 55 88026129 HE/ve:

TE H|# i |t s
#H i B
e ET AT B R (N H ) 20
FRERERE(AR) 20 R 15
B | P |E N R R (A R) 10 PR NS B 25 AR -
" G REEE(AR) 15 + RS 10
Ol g (s R) ERERYISER » RN 5 AR BRI FEIER N EL A S BRSNS 0 2 R - REResfhes -
i i id 4 R ] e A 2+ (SRR - (ETERR—B I RS - DU R 4 TR 35 > FEBIERYINER Y 50% » 3% 4B RIHE R AT P M B4R F &5 —F -
W@ B # % W2 [ 4G AET 2 » T DADTAR B DT RI R » DUBHAS % R4 F— U R R R — BRI -
B | g [BOR IR (E o %) NS 15% K23 7% W P BRI R 3% o
o s IR (s ) (E AR AUE | 45 BUR | S6MIE |67HT| TEMF | 89MF | $I0MF | 10MMF HASPIT | 15 DAT |eestere Eommiel (i » MEREDLGRATIEERS » ST A 4% » RRREF/IM 40 28R > 4%DL bR FEE 2 bl
BEE(AR) FE 1000 700 450 300 200 100 60 50 40 |EEER - MSHSETIRRERREIREZ LR AR L -
@ ¥ EL(AR) 10-15 20 25 30 35 40 45 50-150 150 D\ |
R FE TR 92 | (5 49 %) . HieR L 5ERE<R/4 -
4 5 6 75 9 10 11 12 N
ENECC
FE Vgl o R (B 4y %) 0.5%
A W % (H 5 %) 2L 212 I F 1219
FMEEE(AR) - FEtI4
& & ( 2 R ) NE% 20 40
f ) W o O(HE S R ) 2LIF 2-12 LI 12-19 o
il [ EE(AR) = E (&~ 7 — ” o F45
pe | B4 e Bt R g EU B
BRI (A R Ll a4 40 BT 5 3.6 AR
= = 4.2 3.8
BB (5 R FiAi 4 0.3-06
BOE (A R LR FEREE 0.2 0 % 0.2 $EEF V I TENR: 0.3 % 0.2
i H Wi+ [[Ee o B
w| |8 ¥ (H LK) 7 11 FECH 1:3/4 1172 BRI MA 1504 - B P 1:1/2 | B4R AR MA 1:0 - B4R PIfH 1:1/4
L 4 Vil 1112 11 1/4 11 11
g B H T E (A R) 2.8
B E (AR H{}p% 0.15-0.25 {255 0.10-0.15
Hope st (H 4 %) 3% » AT
(A - - - 2001
i I (A R)| 1013 15-180 200 LI |-
e %E%}E(ﬁﬁ%)iﬁg((ﬁﬁ%; 20 30 g

M P m ' 25

i
| g [T (2 ) HS-20
T e (/) 4.0 (ER KRS
# (A R) 40
EREeS
w5 s (2 ) 42




